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R DETEZ | Atz |BR2EEO2|RYETREOS| ERRIEE | SRR | OB
BHBEHERTE 180,000 1,080,000 360,000 360,000 180,000 540,000 330,000
= Z Dt 0 0 0 0 0 0 0
* &t 180,000 1,080,000 360,000 360,000 180,000 940,000 330,000
HEARE 2,254 0 0 0 0 0 0
HEE 0 0 0 0 0 0 0
[LERE 81,142 0 0 0 75,313 0 0
INiE 6,490 0 0 0 0 0 0
BF-REEHE 0 0 0 0 0 0 0
* E 0 0 0 0 3,000 0 0
H BERMERE 0 0 0 0 0 0 0
EHMEBAR 0 0 0 0 0 0 0
NS 0 0 0 0 0 0 0
EHBRE 0 0 0 0 0 0 0
o 89,886 0 0 0 78,313 0 0
BEEERIZEE 90,114 1,080,000 360,000 360,000 101,687 940,000 330,000




